## Anx B - Work Completion Report

Date		Date:	D			はなる。大きと、た	2	Sign.
		Sign.	31		Sign			Photo Con
			2		Approved by QS team		Approved by project manager	annroved by
&D team	ector/E	Approved by Director/E&D team	Ar			APPROVED BY	APPRC	Remarks:
								10.
46809/-	Total							9.
								.80
	3	11.20	of 1	2129.8	Tiles shifting from cellar to 5 <sup>th</sup> floor	Tiles shifting fr		7.
	1 60/-	15231	1 10	2120.0	Tiles shifting from cellar to 4" 1100r	Tiles shifting tr		6.
3.087/-	1.45/-	TF231	CET.	0.5717	Tiles shifting from cellar to 3. 11001	Tiles shifting tr		5.
2,767/-	1.30/-	TF231	SET	21208	om commercial floor	THE SHITTING OF		4.
3,193/-	1.5/-	TF231	SFT	2129.8	Tiles shifting from cellar to 2nd floor	Tiles chiffing fr	I II O SHITTER	
2,129/-	1/-	TF231	SFT	2129.8	Tiles shifting from cellar to 1st floor	Tiles shifting fi	Tiles shifting	
2 200	:					corridors		
8,240/-	1/-	CL108	SFT	8240.9	Cleaning from 1st floor to 5th floor	Cleaning from 1	Cleaning work	2.
	, ,	CEITO	of 1	8240	Corridor floor chipping work from 1" floor to 5th floor	Corridor floor c	Chipping work	1.
24 720/-	2/	CT 110	CET				no	
Amount	Kate	Rate ID	Units	Qty		Details of work	Unit/floor	SI. No.
		GS I bill required?			Contractor bill no.		NA	WO date
S A		WO Issued		12/05/24	Work done to date		NA	WO no.
		M-codex bill ID.	M-K	30/03/24	Work done from date		A-Block	Block no.
22/05/24	22	Dt. site bills reg.	Dr.	Earth work	Nature of work	<b>S</b>	Nilgiri Heights	Project/site
01		SI. No. site bills reg.	Si.	T.Kurmanna	Name of contractor	_	Modi Realty Pocharam LLP	Company

Notes: 1. This sheet replace installation report and advice for credit to contractors. 2. This word form must be typed 3. Use this form even if work order is not issued. 4. Attach measurement and estimate sheets only if Notes: 1. This sheet replace installation report and advice for credit to contractors. 2. This word form must be typed 3. Use this form even if work order is not issued. 4. Attach measurement and estimate sheets only if work is an installation report and advice for credit to contractors. 2. This word form must be typed 3. Use this form even if work order is not issued. 4. Attach measurement and estimate sheets only if work is an installation report and advice for credit to contractors. 2. This word form must be typed 3. Use this form even if work order is not issued. 4. Attach measurement and estimate sheets only if work is an installation report and advice for credit to contractors. 2. This word form must be typed 3. Use this form even if work order is not issued. 4. Attach measurement and estimate sheets only if work is an installation report and advice for credit to contractors. 2. This word form must be typed 3. Use this form even if work order is not issued. 4. Attach measurement and estimate sheets only if work is an installation report and advice for installation repo

sent by courier).

Rft	482.0	1.0	1.0	1.0	482.0		
	259.8	1.0	1.0	8.7	30.0		
	1,388.4	1.0	1.0	6.6	211.0	Tiles shifting from cellar to 5th floor corridor	
Rft	482.0	1.0	1.0	1.0	482.0		
Sft	259.8	1.0	1.0	8.7	30.0		
Sft	1,388.4	1.0	1.0	6.6	211.0	Tiles shifting from cellar to 4th floor corridor	
Rft	482.0	1.0	1.0	1.0	482.0		
Sft	259.8	1.0	1.0	8.7	30.0		
Sft		1.0	1.0	6.6	211.0	Tiles shifting from cellar to 3rd floor corridor	

Shot on Cheflus \* Fasse plac Secunderaliza, Telangara 2024(1522 %)

ME		Vanita in the second se	-		1	F	Viign	Viigy rai
	Company Name:	MRPLLP			p	proved	proved by: Vijay	Approved by: Vijay raj
	Project:	NGH						
	Work Description:	Earth work						
	Contractor:	Kurmanna						
	Prepared By:	Anil.M						
	Date:	20.05.2024						
				Vide			Unicht No.	Unicht No.
S No.	Item Head	Item Description	Length	Width		Height	No's	
1	Chipping work	Corridor floor chipping work from 1st floor to 5th floors	211.0	6.6		1.0	1.0 5.0	5.0
			30.0	8.7		1.0		1.0
2	Cleaning work	Corridor floor cleaning work from 1st floor to 5th floors	211.0	6.6		1.0	1.0 5.0	5.0
			30.0	8.7		1.0	1.0 5.0	
w	Tiles Shifting	Tiles shifting from cellar to 1st floor corridor	211.0	6.6		1.0	1.0	1.0 1.0 1,
			30.0	8.7			1.0	
			482.0	1.0		1.0	1.0 1.0	
		Tiles shifting from cellar to 2nd floor corridor	211.0	6.6			1.0	1.0 1.0 1,
			30.0	8.7		1.0	1.0	1.0
			482.0	1.0		1.0	1.0	

Company Name: NGPLLP   Approved by: Viny my	nt: 46809.8	Total amount:						
Company Name:   MRPLLP   Approved by: Vijay mj		771.2	1.60	rft	482.0			
Company Name: MRPILP   MRPILP		415.7	1.60	sft	259.8	The state of the s		
Company Name:   MRPILP   Approved by: Vijay raj		2221.4	1.60	sft	1,388.4	Tiles shifting from cellar to 5th floor		
Company Name:   MRPLLP   Approved by: Vijay raj		698.9	1.45	rfi	482.0			
Company Name: MRPILP   MGH		376:7	1.45	sfi	259.8			
Company Name:   MRPILP   More   Magnetic		2013.2	1.45	sñ	1,388.4	Tiles shifting from cellar to 4th floor corridor		
Company Name:   MRPILP   MORH		626.6	1.30		482.0			
Company Name: MRPLLP   MRPLLP   Approved by: Vijay raj   Project: NGH		337.7	1.30	sft	259.8	c		
Company Name: MRPLLP   Approved by: Vijay raj		1804.9	1.30	an	1388.4	Tiles shifting from cellar to 3rd floor corridor		
Company Name: MRPLLP   MRPLLP		554.3	1.15	Ħ	482.0			
Company Name:   MRPLLP		298.8	1.15	sft	259.8	4		
Company Name:   MRPLLP		1596.6	1.15	sft	1,388.4	Tiles shifting from cellar to 2nd floor corridor		
Company Name:   MRPLLP		482.0	1.0	∌	482.0			
Company Name: MRPILLP  Work Description: Earth work  Contractor: kurmanna Prepared By: Anil.M  Date: 20.05.2024  Chipping work  Chipping work  Corridor floor chipping work from 1st floor to 5th floors  Cleaning work  Cleaning work  Cleaning work  Cleaning from cellar to 1lst floor corridor 1388.4  Tiles Shifting  Tiles Shifting from cellar to 1lst floor corridor 1388.4  Tiles Shifting Tales shifting from cellar to 1lst floor corridor 1388.4  Approved by: Vijay raj  Approved by: Vij		259:8	1.0	sft	259.8			,
Company Name: MRPLLP  Project: NGH  Work Description: Earth work  Contractor: kurmanna  Prepared By: Anil.M  Date: 20.05.2024  Chipping work  Chipping work  Chipping work  Corridor floor chipping work from 1st floor to 5th floors  Cleaning work  Cleaning work  Corridor floor cleaning work from 1st floor to 5th floors  1299.0 Sft 1.0 6941.9  Cleaning work  Cleaning work  Company Name: Approved by: Vijay raj  App		1388.4	1.0	Sft	1388.4	Tiles shifting from cellar to 1st floor corridor	Tiles Shifting	
Company Name: MRPLLP  Project: NGH  Work Description: Earth work  Contractor: kurmanna  Prepared By: Anil.M  Date: 20.05.2024  Item Head Item Description Quantity Units Rate Amount  Chipping work  Corridor floor chipping work from 1st floor 6941.9 Sft 3.0 20825.7  Cleaning work  Corridor floor cleaning work from 1st floor 6941.9 Sft 1.0 6941.9		0.6671	0.1	Sit	1299.0			
Company Name: MRPLLP  Project: NGH  Work Description: Earth work  Contractor: kurmanna  Prepared By: Anil M  Date: 20.05.2024  Item Head Item Description Quantity Units Rate Amount  to 5th floors 1299.0 Sft 3.0 20825.7		6941.9	1.0	Sft	6941.9	Corridor floor cleaning work from 1st floor to 5th floors	Cleaning work	2
Company Name: MRPILP  MRPILP  Project: NGH  Work Description: Earth work  Contractor: kurmanna  Prepared By: Anil M  Date: 20.05.2024  Item Head  Item Description  Chipping work  Corridor floor chipping work from 1st floor  6941.9 Sft 3.0 20825.7		3897.0	3.0	Sft	1299.0			
Company Name: MRPLLP Approved by: Vijay raj Project: NGH Work Description: Earth work Contractor: kurmanna Prepared By: Anil.M Date: 20.05.2024  Item Head Item Description Quantity Units Rate Amount		20825.7	3.0	Sft	6941.9	Corridor floor chipping work from 1st floor to 5th floors	Chipping work	-
MRPILP  NGH Earth work kurmanna Anil.M  20.05.2024	Item Head Tota			Units			Item Head	S No.
MRPLLP NGH Earth work kurmanna Anil.M						20.05.2024	Date:	
MRPLLP NGH Earth work kurmanna						AnilM	Prepared By:	
NGH Earth work						kurmanna	Contractor:	
NGH						Earth work	Work Description:	
MRPLLP						NGH	Project:	
			y: Vijay raj	pproved	>	MRPLLP	Company Name:	

Shot on OnePus × Hasseload Secunderabad, Telangana 2024.05 22 16 3

High 27,90 h707 The first professormes and the gradient Charles Will for Consumable Charges

## T.Kurmanna, Mallapur, H.no:45 Bank colony, Mallapur,

Hyderabad

Date:22.05.24

In favor of:
Project / Site:
Project i Site:
Project i Pocharam
Pocharam

Type of Work: Early works

Towards: Allowance for Consumable Charges

Fs.9361/-	Brief description of work done: Towards chipping work, cleaning work & tiles shifting work done in corridors Total Amount: 46809/-	Ţ.
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	Brief description of work done: Towards chipping work,	oN S

Amount in words: Nine thousand three hundred and sixty one Rupees Only

 	 Sign

Est Labour Charges

## T.Kurmanna H.no:45 Bank colony ,Mallapur , Hyderabad

Date: 22.05.24

In favor of:
Project / Site:
Project / Site:
Pocharam

Pocation:

Type of Work: Earth works

Towards: Allowance for Labour Charges

FS.18,723/-	Brief description of work done: Towards chipping work, cleaning work & tiles shifting work done in corridors	1
JanomA.		on s

Amount in words: Eighteen thousand seven hundred twenty three Rupees Only.

:ugi
.ubi

Shot of ChePles in Hasselbau Secure-acad Teargers 2024,05.221844

## Bill for Equipment Charges

T.Kurmanna H.no:45 Bank colony ,Mallapur , Hyderabad

Date:22.05.24

In favor of:
Project / Site:
Project in Heights
Project in Heights
Pocharam

Type of Work: Earth works
Towards: Allowance for Equipment Charges

JanomA	Description	JN 3
	Brief description of work done: Towards chipping work,	.oN S
-/ELL 81 3 d	cleaning work & tiles shifting work done in corridors	.,
Rs.18,723/-	-/60894:truomA letoT	
	Work Done From Date: 25.03.24 To 15.05.24	

Amount in words: Eighteen thousand seven hundred twenty three Rupees Only.

:ngi2